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® Please check that this guestion paper contains 9 printed pages + 3 Maps.

Code number given on the right hand side of the question paper should be written an the
title page of the answer-book by the candidate.

® Please check that this question paper contains 30 questions,

Please write down the serial number of the question before attempting it,
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SOCIAL SCIENCE
Time allowed : 3 hours Maximum Marks : 80
faffe wier : 8 qve stfirray 3% ¢ 80

General Instructions :
() There are 30 questions in all, All guestions are compulsory.
fit).  Marks for each guestion are indicated aguinst the question.

(it} Questions from serial number 1 to 10 are I-mark questions, Answer of these questions
may be from one word (o one senlence.

fiv) Questions from serial number 11 to 18 are 3-marks questions. Answer of these
questions should not exceed 80 words each.

(0)  Questions from serial number 19 to 28 are 4-marks questions. Answer of these
questions should not exceed 100 words each.

(vi) Questions number 29 and 30 are map questions. Attach the maps inside your answer
book.
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() FeTao0 T8 | TH TeT A 7 |
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&7 781 BT ey |

(v) N HEN 19 § 28 7% & I G- 9 F £ | 7 FA] & I 100 V=] H e

&7 781 g7 AT |
(vi) TR FE 29 T 30 AT § FalaT 79 8 | 7 T A 3 I ghen & ol
Her HlrT |
1. What was the notion of Swaraj for plantation workers in Assam ? ik

sn A Aeed & A wOe # swen &4 4 2

azn 1 R0




4.

113

Mention growing and harvesting periods of Rabi crops. ' %+% =1

W #l G # I A9 R4 A e @ e Fiew |

Diefine the term ‘dam’. 1

‘g’ e F oftaen difeg )

Clagsify manafacturing industries into two groups on the basis of source of raw mEtEI‘I?JE

used. e o
= = s, | - 4 ]

YT el W & & & e gt fafwie sa S0 e el 8 e s

What is the meaning of ‘patriarchal’ society 7 1

‘fergraens WA & F A g 7

Define the term ‘Feminist’ 1

e’ e w gfan &S |

What 18 the challenge of expansion 7 1

fr & gl @ @ s 2

Aceording to the World Bank, classify the countries of the world into two groups on

the basis of per capitn annual income. -+E=I
firee & & sqar oy =ifs @iffs smr & s W fwe & Su @ & o ¥ afen
Which agency works for our safety at the State level during disasters 7 I

eE % weg at R el g F AT T W W wE s 2

What is the main aim of Nehru Yuva Kendra ? I
By By

WEE g9 F H T Ieed =2 7

Satyagraha is not physical force. A satyagrahi does not inflict pain on the adversary; he

does not deek his destruction ... In the use of satvagraha, there is no 'ill-will whatever,

Satyagraha is. pure soul-force, Truth is the very substanee of the soul. That is why this
force is called satyagraha. The soul is informed with knowledge. In it burns the flame
af love. ... Non-violence is the supreme dharma ...

Read the above passage and answer the following questions : 142=3
(11.1) Who spoke these words 7

(11.2) Explain two differences between physical foree and soul-force, with examples.

HETE NS 9 961 & | e 394 95 @ S8 A6 9ean; aﬁmﬁm;mﬁﬂm
T WA | ... GrgEE % FEN WoguiEAl & fow @i =@E R g |
mmﬂzm%]mmmwm@mﬁlmwﬁﬁm
F AW e T R | e §9 9 @En o9 gl @ | SEH wm F W Wend 8 | .

few gaf= w9 R | L

T W U e @ ew s fefatan gwE & e O
(111 9 7 feat s € 7
(11.2) wﬁﬁmmaﬁwﬁmqﬁaﬁwmﬂm|
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Note :  Below are given three groups — A, B and C for questions number 12 and 13. Select

13,

12,

13.

12;

13.

any one group for answering these fwo guestions.
Y HE 12 S 13 % fa€ A9 @, @ SN 7 @7 94E R e & 1 37 & v
% I & o0 541 vs @y & & gAe |

GROUP A
WE &

Explain the three types of flows within the internafional economic exchanges during
1815 - 1914, dx1=4

1816~ 1914 % o7 RIS anfiE ffem § @9 sER & EE w1 e Eif

How had a series of inventions in the eighteenth century inereased the efficiency of each
gtep of the production process in cotton textile industry ? Explain, 3

seree we # A enfae & duen 3 gl aw 9N # e WA F A =
o Fwe @ e wER agE 2 WE & |

GROUP B
e
Who were the jobbers ? Explain their functions, 1+2=4

ST w4 7 IHE wE F WE Sy |

Why is Mumbai (Bombay) known as the city of dreams ? Give three reasons. Ax1=3

et (@mE) W A W YR b FE W @ 2 A & S |

GROUP C
HET
Define the term ‘trade surplus’. How was the income received from trade surplus with
India used by Britain ? 1+2=3

SR AEY I & U e | 9RE § 9 SeR s § aw o W G
g YR 39T S & ?

How is urban development directly related to the cost of ecology and environment ?
Explain, giving examples of industrial cities of England in the nineteenth century. 3

T famra wiY-dit W ittt sk wfawn & Fa § R TR e @ 2 S
od F divs & sidife d # SERm § OFY O YEqD 94d g SE i |
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14. Study the map given

below showing major seaports

and internationgl airports of Indial
carefully and answer the questions that follow - 1=41 5=
T T T LT T T
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Name three states which havye major seaports
as shown in the mHp given above,
(14.2) Write the

#Fﬂm.&laﬁam

i

(1. T)

but do not have international airports
names of the major seaports of these stateg.

32N 4




2 fem e uEfEE #
el Ta v e T § SR Ies A R

Wm%ﬁtﬂﬁﬂi{

T

FEE S T (A W % Fed WEE S a9

80

¥ ] T
720 76° §0° 50 88° o° 967
> qae
ﬁ! .
Gk N, @ T e e e
e
33° -
A
r” e |
i .-:"'r""'(:
.... ..l‘f.
=
e 4
S
o Tt
VT

(14.1) o T % e AT e e W UEA A §, W FeNgE we v

ﬂﬁ%‘ﬁmﬁmﬁqwmﬁ‘mw%{
(4.9 T U 9 wEtEd §oF G e % A6 e |
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Note :  The following question is for the Blind Candidates oniy in liew of &. No, 14,
Az ; IrleTET 257 @aeT giegia whmidar & fom Jvr g 14 5 AW E

{14.1) Name the northernmost and southernmost international airports of India,
(14:2) Name the casternmost and weslernmost major seaports of India along with their

atates. 142=4

(14.1) W%wﬁmﬁmmﬁaﬁwﬁﬁﬁﬂﬁwmm%mqﬁﬁmi
(14.2) 9IHE & =@l T R e ge W w & A s s % e
fefam | .

15. How does democracy stand much superior to any other form of government in promoting
dignity and freedom of the individual ? Explain with suitable examples, ll-+t E—=.‘i

-mﬂmww&mﬁmmwmmm@m
R A A 7 IR Iew e @ Fif |

16. Analyse the functions of consumer protection councils,

Iy e e & wEt @ frvemu At |

17, Explain any three protection measures for the buildings in flood-prane areas, Ix1=8

mﬁﬁm%mammmaﬁwm|

L

18. Write any six qualitics of search and rescue volunteers. 6 g =
@aaﬁzmm?ﬂmﬁﬁaﬁ&:ﬁrﬁmgvﬁﬁfﬁ@m

19. When did the first clear-cut expression of nationalism come in France ? How did the
French Revolution lead to the transfer of sovereignty from the monarchy to o body ol
French citizens ? Explain any three measures taken by the French revolutionaries in this

regard, 1+ 3=t

OR

Explain any four major challenges faced by the Democratic Republic of Vietnam, dxl=q4

BIE T Mg & e ety 5 ? ®EE F A At & e A
Wﬁﬁmﬁ%wﬁmmsﬁmﬁaaﬁ?mmﬁﬁmwwﬁﬁ

TR S T % F Sufan R 9 g e 9w A |

20. How were ideas and information written before the age of print in India ? How did the

printing technique begin in India ? Explain, 248=4

OR
How did the colonial administrators find vernacular novels to be a valuable source of

information on native life and customs ? Explain with examples. 4dxl=4

wgw@wﬁmﬁmaﬁ_ﬁw%ﬁmaﬁﬁ?mﬁwaﬁmw
T S 9EE IO g3 2 wE Fife |

HgEr
aﬁwﬁ%ﬁwmmﬁaﬂhﬂmﬁﬁéﬁaﬂmaﬁtﬁﬁlﬁmﬁﬁﬁgﬁmﬁaﬂw
I R R T S ? 3wl ahe we s |
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21. Classify resources on the basis of the status of development into four groups. Explain the
main features of each group. NG A

S @ EE § W F MR W oAn a § Ay | uEE a1 s e s
& S i |

22, Which is the most abundantly available fossil fuel in India ? What are its three major
forms ? Write main features of each form. 1+1§+1%=4

o e Shared de Sgada § upn S R 2 39 4 e wY R ¥ 7
IO o M i

28, Why is there a lnck of internal democracy within the political parties in India ? Explain
with examples, 4

a i o e & dfie st deeds # oW o @ 7 el s we
FHIfFw |

94. “Some people conclude that politics and social divisions should not be allowed to mix”
Bupport this idea with two arguments. A4 2=4

‘g m A fed e @ & TeEf s wfes fAyeEl @ da Al de
aifee (g fER @ 8 @ & deEa § g @ )

26. Deseribe any lour features of federal government. Axl=d

£35S B 1 e T L 1 L

96, Study the diggram given below and answer the questions that follow : L4+1+2=4
Sources of Credit for Rural
Households in India in 2003
Relatives and Friends
g Others
15
Landlords

] Cooperative
erci i

: - Societies
Banks St

(26.1) Which are the two major sources of credit for rural households in India ?
(26.2) Which one of them is the most dominant source of credit for rural households ?

(26.:3) Whyis it the most dominant source of credit 7 Give twp reasons.

J21 7 BT




%mwmﬁw_ﬁﬁqaﬂxmﬁa%#ﬁﬁqwmﬁ%mﬁﬁp
a4 2008 ¥ WiYa 7 anfroy
URERl % ' & '

(26.1) mﬁmﬂh?ﬁﬁﬁﬁimw%ﬁlrﬁaﬁ'\ﬂﬁﬁﬂﬁ ?
(26.2) mﬂmﬁﬁ%mmmmmiﬁmﬂ?
(26.9) W& WG H wEH WO E w0 R ? 81 Fwor S|
Note:  The following question is for the Blind Candidates only in liew of Q. No. 26
A Wﬁ-m%mmwﬁwﬁu}'%mm#@us%mwh
What are the two main Broups of credit for rural households in India ? State two features of
vach, 24224

wﬁmwﬁaﬁ%mﬁ%mammaﬂaﬁ'i 2 N AT A fadiensit
g Fifs |

29, Distinguish betwesn primary sector and secondary sector by stating four points of
distinetion, 4xl=4

mﬁm%mméﬁﬁwﬁaiﬁﬁmmaﬁﬁml

28. Why is ‘tax’ on imports known as a trads barrier ? Why did the Indian Government impose
barriers to foreign trade and foreign investments afier Independence 7 Give three reasons,
143=4
mm‘ﬁ'ﬁwmﬁ;mﬁaﬁmwﬁ ? TG & qE WA HER
ﬁﬁ%ﬁﬁwwﬁﬁ?ﬁﬁﬁaﬁwmﬁfm ? A9 &R e |
28, (i) On the given political outline map of India lon page 10), a place is shown by

number 1, which was a famous large-scale industrial region on the eastern coast of
the country in 1931 Identify and write the correct mame of this place on the line

drawn on the map, 1
(i) On the same map of India (on Page 10), shade and pame the state where the
Champaran movement of Indigo planters started. 1

(i) ﬁqwma%'mﬁm%ar-mﬁa{wmwﬁﬂmymmmaﬁ
ﬁﬁmwﬁ’a}mwazﬁ%m%ﬁﬁawq&?m@ﬁmﬁmaﬂﬁrﬁﬁ%
mlwmﬁwaﬁﬁqﬁtmnﬁmmﬁawﬁnﬁhﬁrm

(i) W%WW(ﬁmmﬁwmﬁmaﬂmaﬂtmm
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30. On the given political gutline map of India (on page 11), are shown four geographical
features A, B, C and D. Identify these features with the help of the map key and write

their correct names on the line marked against each in the map. dxl=4
OR

On the given political outline map of India (on page 12), locate and label the following

features : dxl=4

il Tehri Dam

(ii) Korba Thermal Power Plant
(i) Coimbatore — Cotton Textile Industry
fiv) Pune = Software Technological Park
faw o ard & oo tE-wateE (98 1 W) § =R dbifds @@ A, B, ¢ 3D
femm mw & | wwfer & & € &0 8 we ¥ o oV 1 wpEe sk Owfer d
T & wEY @ T TEr WS e A fafa |
g
fow o W & usEifes Wa-aeteE (98 12 W) § Fefafes et @ faft fame
st 3w A fetfan
() el @y
(i) @ qy vl H9E
(i) HEaEe — et we
tiv) Tﬂ' = H’hﬁm rEfiE Wik

Note :  The following question is for the Blind Candidates only in liew of Q. No: 29 and
3,

Mie :  [AEfafEed ged FE0 giewly sdienual & U gve §EE 29 S 30 F A W

2| -

{if ~Name the important industrial centre of south India in 1931.

(i)  Name the state where Indigo planters movement was started.

{iii)  In'which state is Tehri Dam located 7

(ivi Name the state where Korba thermal power plant is located.

fv) Mame the state where Coimbatore iz located.

(i} In whj.ch state is Pune located ? Gx1=6

() T 1931 H <V 9RE F Hewql S F5 W AW a0EC |

(i) IH TA H A AGET Gl 4 AG T Gl T G GHA F A YO g
a |

(i) 270 A fFE g H fogm § 7

(iv) =9 T F AW qaE0 GaE SE 99 giE 5497 e 2

(v) ey e v ¥ fem g 2

(i) O TR TS W femm B2
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For question no. 29

99T H, 29 #F fow

Outline Map of India (Political)
A & - A (i)
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For question ne. 30

794 H. 30 & fo

Qutline Map of India (Political)
A @1 T@-AEEd (Vi)

= I T -

Iron ore fisld gt
e g A g

Coal figld

o
gir][ﬁg'!d
ZE]
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For question no: 30 OR

321

¥T9 ®. g0 AgEn % fou

Outline Map of India (Political)

HId &1 TE@T-aHted (T=H1fE)
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